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Ol &ERb== o =0 A
AAHFAZ ¢ M2 D= HHHE
@ NEAH= (EHol: m2)
X .22 FHH . O - JIRAE - BES INEL HACX =N ] JmE=Sl;
S&E0IN2 Gtz 499,104,255 409,525,677 89,578,578
G 146,815,850 70,826,000 75,989,850
Xl & srEel 146,815,850 70,826,000 75,989,850
XA (U202 THHHIH) 146,815,850 70,826,000 75,989,850
THE O EH(THH 221013 THEAH D) 111,515,850 35,076,000 76,439,850
201 LB 3,640,000 76,000 3,564,000
01 A2 3,640,000 3,640,000 70,000 3,570,000
o IR JHM DINZIX TS 0tA3 2| o 610,000,000 - 3,640,000
308 RIXISHRISOIA 24,920,000 0 24,920,000
10 DI|BSO|CHEARSIE AL 24,920,000 24,920,000 0 24,920,000
o HIIE JhM MRSHO [ HERERS
X2l
24,920,000,0008! = 24,920,000
401 AlEHIZ S| 82,955,850 35,000,000 47,955,850
01 Al&H] 82,955,850 82,955,850 35,000,000 47,965,850
o THHHOIZ CHHI AF Al&H] 82,955,850, 0008 = 82,955,850
SSER(HH2IIIS HHAHE) 35,000,000 35,000,000 0
401 AlEHIZ S 35,000,000 35,000,000 0
01 Al&H| 35,000,000 35,000,000 35,000,000 0




6,000,000& =

T -22 - Y- U4 - HRAEY - BHES XEH HEX|EH wus

o S3EAY A& 35,000,000,0002! = 35,000,000
TRA(THLH22DIZ HHAHEH) 300,000 750,000 450,000
401 Al&HIL L] 300,000 750,000 450,000
01 Al&HI 300,000 300,000 750,000 450,000

o GIREA AlLH] 300,000,0008! = 300,000
352,288,405 338,699,677 13,588,728
S(S=EON= A2 D) 352,282,405 338,693,677 13,588,728
HXE(HH22012 HHAH) 352,282,405 338,693,677 13,588,728
= A2 X 352,282,405 338,693,677 13,588,728
602 OllXI= 352,282,405 338,693,677 13,588,728
N L 352,282,405 352,282,405 338,693,677 13,588,728

o AIZ21 0xIZ 352,282,405,0002 = 362,282,405
HE2HAH|(SSSOIM2 A 22D 6,000 6,000 0
ZHI(MH22DI2 HEHE) (22013 HEHE) 6,000 6,000 0
22l 6,000 6,000 0
201 L8=23| 6,000 6,000 0
01 A2 6,000 6,000 6,000 0
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